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PLEASE READ THE FOLLOWING INFORMATION BEFORE SOLVING THE EXAM:

1) The test has a version in English (odd pages) and a version in Portuguese (even
pages).
2) You are allowed to keep your pens, pencils and a calculator with you.
3) The structure of the test is the following:
* Questions 1 to 6 are multiple choice;
* Questions 7 to 9 require explaining all the steps in your answers.
4) Grading:

* Each correct multiple-choice answer is worth 1.0 point. Each incorrect
multiple-choice answer penalizes 0.25 points. No answer in a multiple-
choice question is worth zero.

* Question 7 is worth 8 points.

* Question 8 is worth 3 points.

* Question 9 is worth 3 points.

5) Multiple-choice questions must be answered in the grid. (page 3)

6) You are not allowed to un-staple the test.

7) Scrap paper, formulary and an appendix (for questions 4 and 7) are separately
given to you.

VIP AREA (PROFESSORS ONLY):

Pergunta Nota Comentario
1-6
7
8
9
Total

Good Luck!
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POR FAVOR LEIA A SEGUINTE INFORMAGAO ANTES DE RESOLVER O EXAME:

1)
2)

3)

4)

5)
6)
7)

teste tem uma versdo em Inglés (paginas impares) e uma versdo em Portugués
(paginas pares).
E permitido conservar consigo canetas, lapis e uma calculadora.
A estrutura do teste é a seguinte:

* AsPerguntas 1 a 6 sdo de escolha multipla;

* AsPerguntas 7 a 9 requerem exposicao dos varios passos da resolucao;
Classificacao:

* (Cada resposta correta em escolha multipla vale 1.0 valores. Cada resposta
incorreta as perguntas de escolha multipla penaliza 0.25 valores. Uma
pergunta de escolha multipla sem resposta vale zero.

* A pergunta 7 vale 8 valores.

* A pergunta 8 vale 3 valores.

* A pergunta 9 vale 3 valores.

As perguntas de Escolha Multipla tém de ser respondidas na grelha (pagina 4).
N&o é permitido desagrafar o exame.

Papel de rascunho, formulario e apéndice (para as perguntas 4 e 7) sdo
distribuidos separadamente.

Boa sorte!
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1) (1,0, or-0.25 points) Which of the following statements is TRUE?

A) On Nasdaq, each stock has only one market maker.

B) Ask prices exceed bid prices.

C) Because customers always buy at the bid and sell at the ask, the bid-ask spread
is a transaction cost investors have to pay in order to trade.

D) None of the above statements is true.

2) (1, 0, or -0.25 points) The table below shows the rate of return (APR) for four
investment alternatives that Mr. Alcino Cruz is considering. Which offers the
highest EAR?

Investment: A B C D
Rate of Return (APR) 6.0% 5.9% 5.8% 5.7%
Compounding Yearly Semiannually | Monthly Weekly

A) Investment A
B) Investment B
C) Investment C
D) Investment D

3) (1, 0, or -0.25 points) Consider the following table with financial data for four
regional trucking firms (A,T,C and G):

Firm A Firm T Firm C Firm G
Net Income $34.1 million | $5.7 million | $31.1 million | $13.2 million
Market Capitalization | $112 million | $310 million $53 million $280 million
Earnings per share $4.10 $4.05 $6.75 $12.70

Based on price-earnings ratios, which firm's stock is the best value?

A) Firm A
B) Firm T
C) Firm C
D) Firm G
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1) (1,0, ou-0.25 valores) Qual das seguintes afirmacGes € VERDADEIRA?

A)

B) Os precos ask excedem os precos bid.
C) Porgue os investidores compram sempre ao bid e vendem ao ask, o bid-ask
spread é um custo de transacdo que os investidores tém de pagar para
poderem transacionar.
D) Nenhuma das afirmacdes anteriores é verdadeira.

No Nasdagq, cada acdo tem apenas um market maker.

2) (1, 0, ou -0.25 valores) O quadro seguinte mostra a taxa de rendibilidade (TAN) de
guatro oportunidades de investimento do Dr. Alcino Cruz. Qual delas tem a mais

elevada TAE?

Investimento: A B C D
Taxa de Rendibilidade (TAN) 6.0% 5.9% 5.8% 5.7%
Capitalizagdo| Anual Semestral Mensal Semanal

A) Investimento A
B) Investimento B
C) Investimento C
D) Investimento D

3) (1, 0, ou -0.25 valores) Considere o quadro seguinte com dados financeiros de
guatro empresas regionais de camionagem (A,T,C and G):

Empresa A Empresa T Empresa C Empresa G
Resultado Liquido 534.1 million | 5.7 million | $31.1 million | $13.2 million
Capitalizacdo Bolsista | $112 million | $310 million | S53 million 5280 million
Resultados por acdo | 54.10 54.05 56.75 512.70

Com base nos rdacios price-earnings, qual é a acdo com melhor valor?

A) Empresa A
B) Empresa T
C) Empresa C
D) Empresa G
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4) (1, 0, or -0.25 points) Consider the balance sheet given in the Appendix (for
qguestions 4 and 7) regarding company “The Cruz Gongalves Corporation”. If in
2015 this company has 10.2 million shares outstanding and these shares are
trading at $16 per share, then what is this company's enterprise value?

A) $536.1 million
B) $782.4 million
C) $442.5 million
D) $499.5 million

5) (1, 0, or -0.25 points) Which of the following statements regarding bonds and their
terms is FALSE?

A) The amount of each coupon payment is determined by the coupon rate of
the bond.

B) Prior to its maturity date, the price of a zero-coupon bond is always greater
than its face value.

C) The zero-coupon bond has no periodic interest payments.

D) Treasury bills are U.S. government bonds with a maturity of up to one year.

6) (1, 0, or -0.25 points) Gong-Alves Services has 1.2 million shares outstanding. It
expects earnings at the end of this year of $6.0 million. Gong-Alves pays out 60% of
its earnings in total: 40% paid out as dividends and 20% used to repurchase shares.
If Gong-Alves's earnings are expected to grow by 5% per year, these payout rates
do not change, and Gong-Alves's equity cost of capital is 10%, what is Gong-Alves's
share price?

A) $12.00
B) $24.00
C) $36.00
D) $60.00
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(1, 0, ou -0.25 valores) Considere o balanco que consta do Apéndice (para as
perguntas 4 e 7) relativo a empresa “Cruz Gongalves, SGPS”. Se em 2015 esta
empresa tem 10.2 milhdes de a¢Ges em circulacdo e estas acdes transacionam a
$16 por ac¢do, qual é o enterprise value desta empresa?

A) $536.1 million
B) $782.4 million
C) $442.5 million
D) $499.5 million

(1, 0, ou -0.25 valores) Qual das seguintes afirmacdes acerca de obrigacdes e dos
seus termos é FALSA?

A) O montante de cada pagamento de cupdo é determinado pela taxa de cupdo
da obrigacao.

B) Antes da sua data de maturidade, o preco de uma obrigacdo cupdo-zero é
sempre superior ao seu valor facial.

C) A obrigacdo cupdo-zero nao tem pagamentos periédicos de juro.

D) Treasury bills s3o obrigacbes do governo dos Estados Unidos com
maturidade até um ano.

(1, 0, ou -0.25 valores) Gong Alves Services tem 1.2 milhdes de acbes em
circulacdo. A empresa espera resultados de $6.0 milhdes no final deste ano. A
Gong Alves distribui ao todo 60% dos seus resultados: 40% sob a forma de
dividendos e 20% sdo utilizados para recomprar acOes. Se se esperar que 0S
resultados da Gong-Alves crescam 5% ao ano, que as taxas de payout ndo se
alterem, e que o custo de capital préprio da Gong-Alves se mantenha em 10%, qual
o preco de uma ac¢do da Gong-Alves?

A) $12.00
B) $24.00
C) $36.00
D) $60.00



LISBON
SCHOOL OF
ECONOMICS &
MANAGEMENT

UNIVERSIDADE DE LISBOA

7) (8 points) Consider the financial information of The Cruz Gong¢alves Corporation for
2015 and 2014 that you can find in the appendix (separately distributed).

a)
b)
c)

d)

e)

(2 points) Comment on the evolution of this firm’s liquidity from 2014 to
2015. Show your computations.

(2 points) Compute the inventory turnover, the accounts payable days, and
the accounts receivable days for 2015. Comment.

(1 point) Compare the Earnings per Share (EPS) to the Diluted Earnings per
Share in 2015. Show your computations.

(1 point) Suppose that the average company in the same line of business as
The Cruz Gongalves Corp. has a fixed asset turnover ratio of 3.5. Briefly
comment on The Cruz Gongalves Corp.’s fixed asset turnover in 2014.

(2 points) Based on the DuPont Identity, explain the influence of leverage
(debt) in the accounting return on equity (ROE) of The Cruz Gongalves
Corporation in 2015. Show your computations.
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7) (8 valores) Considere a informacdo financeira da empresa Cruz Gongalves, SGPS
para 2015 e 2014, que encontra no apéndice (distribuido separadamente).

a)
b)
c)

d)

e)

(2 points) Comente a evolucdo da liquidez desta empresa de 2014 para 2015.
Mostre os seus calculos.

(2 points) Calcule a rotacdo dos inventarios, o prazo médio de pagamentos e o
prazo médio de recebimentos em 2015. Comente.

(1 point) Compare o Resultado por Acdo (RPA) com o Resultado por Acdo
Diluido em 2015. Mostre os calculos.

(1 point) Suponha que a empresa média na mesma linha de negécio da Cruz
Gongalves SGPS tem um rdcio de rotacdo de ativo fixo de 3.5. Comente
sucintamente a rotacao do ativo fixo da Cruz Gongalves SGPS em 2014.

(2 points) Com base na Identidade DuPont, expligue a influéncia da
alavancagem (divida) na rendibilidade contabilistica do capital préprio (ROE) da
Cruz Gongalves Corp. em 2015. Mostre os seus calculos.

10
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8) (3 points) The prices of three zero-coupon bonds (with maturities of 1, 2 and 3
years) are summarized in the following table:

Maturity (years) 1 2 3
Price (per €1000 Face Value) €950.87 €938.95 €904.56
a) (1.5 points) What is the yield to maturity of each of these zero-coupon bonds?
Explain.

b) (1.5 points) Suppose you observe that a three-year default-free bond with an
annual coupon rate of 10% and a face value of €1000, has a price today of
€1123.50. Is there an arbitrage opportunity? Show your computations and
explain your answer.

13
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8) (3 valores) Os precos de trés obrigacGes cupdo zero (com maturidades de 1, 2 e 3
anos) estdo resumidos no seguinte quadro:

Maturidade/Vencimento (anos) 1 2 3

Preco (por €1000 Valor Nominal) €950.87 €938.95 €904.56

a) (1.5 valores) Qual a yield to maturity de cada uma destas obrigacdes cupdo-
zero? Explique.

b) (1.5 valores) Suponha que verifica que uma obrigagdo sem risco de
incumprimento, a 3 anos, com uma taxa de cupdo anual de 10% e um valor
nominal de €1000 tem um preco hoje de €1123.50. Existe uma oportunidade
de arbitragem? Mostre os seus cdlculos e explique a resposta.

14
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9) (3 points) Engine producer TIA GO has its stock currently trading at €5.0 and it is
expected that it will trade at €5.20 at the end of the year, immediately after paying
out a dividend of €0.35 (which has already been announced).

a) (2 points) What is the expected return on equity of TIA GO? Explain.

b) (1 point) In case the annual dividend is expected to grow in perpetuity at a
constant rate, what annual growth rate would be consistent with the data of
TIA GO? Explain.

15
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9) (3 valores) A fabricante de motores TIA GO tem atualmente a a¢do cotada a €5.00 e
espera-se que transacione a €5.20 daqui a um ano, imediatamente apds fazer o
pagamento de um dividendo de €0.35 (que ja foi anunciado).
a) (2 valores) Qual a rendibilidade esperada das a¢des da TIA GO? Explique.
b) (1 valor) Caso o dividendo anual cresca em perpetuidade a uma taxa
constante, que taxa de crescimento seria consistente com os dados da TIA
GO? Explique.
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ESPACO ADICIONAL PARA COMPLETAR ALGUMA QUESTAO, SE NECESSARIO
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SCRAP PAPER
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PAPEL DE RASCUNHO
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